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Three neighbors have backyard vegetable gardens. Neighbor A grows tomatoes, neighbor B 550 M = ( § _; ) THEND I RBRICELD, BEETELD2 S A, BHEN2N25C3,0),

D(1,2) CBDLETD.

grows corn, and neighbor C grows lettuce. They agree to divide their crops among themselves as

follows: A gets 3 of the tomatoes, % of the corn, and 1 of the lettuce. B gets % of the tomatoes, % of

a) M DETH7ERDE.

the corn, and % of the lettuce. C gets é of the tomatoes, % of the corn, and % of the lettuce. What

prices should the neighbors assign to their respective crops if the equilibrium condition of a closed /4 = ( A b ) A ;\ff_ 7 gq o A—l: - ibc< ~0(C “ﬁ) fc”U‘Q M-/: B _71 (,) —2/)
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